668

SBC #m&Eh—Iiav

FK

FK S U—XFER

d1d3 i D1 © ] o é D6
il il & g
B8
L1
LO L7 L3
L
FULE m:a;w% up—hr\“ rr‘\'—ﬁ;:m\& rr:E)aw% 9\2'5 mess | Sa | Die (P[():4D) Ds D

FK1605 | 156 | 5 16 | 35 | 127 3 | 009 | 28 | 38 | 55 | 48
FK2005 | 196 | 5 20 | 35 | 167 3 | 009 | 36 | 47 | 66 | 58
FK2505 | 246 | 5 25 | 35 | 27| 3 | 009 | 40 | 51 | 66 | 62
FK3205 | 316 | 5 32 | 35 | 287 | 4 | 009 | 5 | 65 9 80
FK3210 | 316 | 10 | 32 | 5556 271 3 | 015| 50 | 65 9 80
FK 4005 | 39.6 | 5 40 | 35 | 367 | 5 | 009 | 63 | 78 9 93
FK4010 | 396 | 10 | 40 | 7.144| 340 4 | 018 | 63 | 78 9 93
FK5010 | 495 | 10 | 50 | 7.144| 43 4 | 018 | 75 | 93 11 | 110
FK6310 | 625 | 10 | 63 | 7144 569 5 | 018 | 90 | 108 | 11 | 125
FK8010 | 795 | 10 | 80 | 7144| 739 | 6 | 018 105 | 125 | 135 | 145




Ball Screw

@
J/

L8
L8

90°

ﬂIT11
[FK1605~3210] [FK4005~8010]
B mm
o i i o #
L1 Lo+t | L1+2 | L3+05 L7 Ls sape Lio | BhERE | BRERS e~ kz B BHEE—XVk
C(KN) | Co(KN) kel | [kg] |[kg:mm?/m]

485 | 33 10 | 55 10 40 | M6x1| 8 9.5 | 109]3000| 0.25| 1.2 32
485 | 33 10 | 55 10 44 | M6x1| 8 11.5| 15.5| 4000 0.35| 2.0 85
49 33 10 | 6.0 10 48 | M6x1| 8 13.1| 20.2 | 5000| 0.37 | 3.3 225
57 39 10 | 6.0 12 62 | M6x1| 8 19.3| 36.3 | 6000 0.7 | 56 645
73 55 16 | 6.0 12 62 | M6x1| 8 26.4| 39 | 6000 0.8 | 53 580
66 45 10 | 7.0 14 70 | M8x1| 10 | 26.3 | 59.2 | 6000| 1.2 | 9.0 1650
885 | 675| 16 | 7.0 14 70 | M8x1| 10 | 649 | 109 | 6000, 1.4 | 83 1400
92 69 16 | 7.0 16 85 | M8x1| 10 | 66.4 | 134.3| 6000 | 2 13.5 3700
103.5) 785 | 16 | 7.0 18 95 | M8x1| 10 | 93.8 | 229.7| 6000 3 22 9870
121 | 92 16 | 9.0 20 110 | M8x1| 10 | 121.9 374.9| 7000| 3.9 | 36.4 | 26850




